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Oral Exercises

Give the intercepts of th

e hyperbola and the equations of its asymptotes,
Tell on which of the coo

rdinate axes its foci lie.

2 2 2 2
_.mwllwwu_ 25 -5 =1 3. 2%~ 252 el
4. 4x? —y2 = 6

6. 43% — 92 4 368

Describe the graph of each equation,

7. xy =k, when k =

Wiritten Exercises

In Exercises
dashed lines;
Your graphs

1-12, (a) graph each hyperbola, showing its asymptotes as
(b) find the coordinates of the f,

oci. You may wish to check
on a computer or 5 graphing calculator,
—6. Use the €quations in Qr

al Exercises 1-6.
7. ¥ = 9%? — 81

8. ¥ =552 4 25

10. 25x% — 14442 = 3609 1. 42— 24 1= 12. 16x% — 4y* + 64 =1
Find an equation of the hyperbola described.

13. Foci (0, —8) and (0, 8); difference of focal radii 10

14. Foci (—4, 0) and (4, 0); difference of focal radii 4.
15. Asymptotes y= Wa and y = JWh foci (0, J/\mv and (0, Swv.
16. Asymptotes y= lﬁk and y = — V2

- ~2 ¥ foci (0, =V/6) and (0, V6).

17. Asymptotes Y=3xand y = 3 y-intercepts 3 and =3,

18. Asymptotes Y=xand y = —y: foci (=4, 0) and (4, 0).

Graph each inequality,

19. y2— 2~ 4 20, y’ =424 21, 47 =42 4 16 22. 97 > 42— 36

2 2
The hyperbolas MM - .flw =1 and NM - Mmm =1 are conjugates of each other.
q q P
Graph the following conjugate hyperbolas on the same coordinate axes.
HN .%N u\_m kb .Hm uum u\_m Hm

N.ﬂ;MLQ’ﬁwL e e T

9. 75x* — 100y> = 7500

. la, since Va is
h equation. Each graph is half of a hyperbola,
i ;
Graph each e

2 - o 1
ﬂcﬂﬂm@mﬁ:ﬁ. 26. y = X

25, y= V& £ 16 8. y=Vi@+1
77, y=Va =16

» be described
. i/h for y hours™ can
“ ing 200 miles at x mi/ - and then
The statement QEM:MMW. Consider the restrictions on x Huon_aw_mmo:m:%
by the B:mconﬁ.uwm What does the graph tell you about
is equation.
MHm»mu—u ._nw.:.m Gﬁ—

between x and y?

29.

having the given
ion of the hyperbola -

el d an equation of : dii.

e A_Mm.d_wwm “Mmmm_?m: number as difference of focal ra

points as foci

4 31. (—3,0), (3,02
30. (0, —5), (0, 5);

uw. 0, —¢), (0, ¢); 2a

F a0 35. (~a, ), (@, —a); 2

M. (a, a), (—a, —a); 2a
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Mixed Review Exercises

Graph each equation.

B 47 =16
8 — 4y =6

3. Bty et Ap 1=4
h. NHMI.L.&..T%ATM"O

it is a function.
h h of each relation and tell whether or not 1
Draw the grap

5. {(x, y): y=2x}

1. {(x, y): x
9. {(x, y): y

6. {x,y):x= NWW

8. {(x, y): y =%}
v 10. {(x, y): x = I}
|x}

Il

Il

. ician Archimedes
About 240 B.c. the great Greek EmEMHM: WMMMM_ME of a parabola.
ﬁ_wwmoomwwmnw MMMBMMMOHHMMMMMMM:MM ow smaller EWMM_HM&_Q

s m :

%HoEEmaom Mq mm MMJMMMMMM% the base (the chord that MMMM__MM_”
h i._na ._M h is the height (the length of a waeowﬁn .
i “oction) M: base from the point on the ﬁmﬂmvoﬁm,_—l Mm_.omoﬁn
e o o n_ to the base touches the parabola). g e omw
f 2ent panale Ooaoz is 4 as large as the area of the larg
the area of the se ks diyer

__ trianele that can b




